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QUESTION 1

The backup window of a customer using tape as a target for the current backup solution has increased over the allowed
time. The customer needs to reduce the backup window by adding an intermediary process to a faster device before
going to tape. What is that process? 

A. Archiving 

B. Rotation 

C. Consolidation 

D. Staging 

Correct Answer: B 

 

QUESTION 2

How is the communication between a Data Protection Advisor Collector and the Server performed? 

A. Standard HTML over SSL 

B. Encapsulated IP frames over FC 

C. Proprietary messages over SSH tunneling 

D. Encrypted XML over TCP ports 

Correct Answer: D 

 

QUESTION 3

A customer wants to purchase Data Protection Advisor (DPA) to support their two EMC Symmetrix arrays. One array is
at the primary site and the other array is at the secondary site. The primary site has 80 TB raw of high-performance
drives and the secondary site has 80 TB raw of high-capacity drives for replication. How would the DPA replication
analysis option be licensed? 

A. One 80 TB high-performance and one 80 TB high-capacity 

B. One 80 TB primary site and one 80 TB secondary site 

C. One 160 TB high-capacity 

D. Two 80 TB Symmetrix 

Correct Answer: A 

 

QUESTION 4

Latest E20-591 Dumps | E20-591 PDF Dumps | E20-591 VCE Dumps                                2 / 3

https://www.geekcert.com/e20-591.html
https://www.geekcert.com/e20-591.html
https://www.geekcert.com/e20-591.html


https://www.geekcert.com/e20-591.html
2024 Latest geekcert E20-591 PDF and VCE dumps Download

A customer is preparing for their Data Protection Advisor (DPA) implementation. Which TCP port needs to be opened to
allow the DPA server to talk to a Collector outside the firewall? 

A. 3616 

B. 3741 

C. 4011 

D. 9002 

Correct Answer: B 

 

QUESTION 5

What is an Avamar checkpoint? 

A. An integrity hardware check of the Avamar grid 

B. A read-only snapshot of the Avamar storage node(s) to synchronize with replicated nodejs; 

C. A full copy of backup data 

D. A read-only snapshot of the Avamar server taken to enable server rollbacks 

Correct Answer: D 
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